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1 —tan 80°

' 2
1 + tan 80°

(i) cot1l60° (ii) cos160° (iii) tan160° (iv) sin160°

2. Ifsin2C = 2sinC, thenC=
(i) 60° (ii) 90° (iii) 45° (iv) 0° (v) 30°

1 _
3. If sin(E+ F)=E\/3 and sin(E— F) =

NI

findE&F

(i) E=47°,F=17° (i) E=43°F=13° (i) E=45°F=15° (iv) E=44°F=14° (v) E=46°F=16°

4. If tan(F+ G)=v3 and tan(F— G)=v3 ,findF&G

(i) F=46°,G=16° (ii) F=45°,G=15° (iii)) F=47°,G=17° (iv) F=43°,G=13° (v) F=44°,G=14°
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5. In ACDE, right angled at D,if tanC = 3 ,find sinCcosE + cosCsinE

(i) 1 (i) 2 V13 (iii) -l\/'13 (iv) 3 V13 (v) -1\/'13
i i o3 i) 5 v) 3 V) g
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6. In ADEF, right angled at E,if tanD =§ ,find cosDcosF — sinDsinF

L9 = 1 . - 4
(i) E\/97 (ii) 5\/97 (iii) 0 (iv) —=+v97 (v) E\/97

1 (1 +sinB)(1 —sinB)
7. If cot = , find
(1 —cosB)(1 + cosH)

(')l (i) (=) (iii) : (')} ()E
S ) () G (v) o (V)

(1 + cos6)(1 —cosH)

1
8. If tanB = ; , find
(1 +sin®)(1 —sinBb)

(i) > (ii) (-1) (iii) ! (iv) ! (v) !
49 49 47 51 49

) 2 2

9. Find the value of 7sec 6 — 7tan ©

(i) 9 (i) 5 (i) 1 (iv) 7 (v) O



10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

Find the value of (1 + tan® + secO)(1 + cot® — cosecH)

(i) (-1) (i) 4 (i) 3 (iv) 1 (v) 2

Given A =45°, B =30°, find tan75°

(i) (2+v3) (i) (=1+v3) (iii) (2+3) (iv) (2=v3) (v) (4+V3)

Given A =45°, B =30°, find tan15°

(i) (2—=v3) (i) (24+Vv3) (i) (2-3) (iv) (5=v3) (v) (-1-v3)

2 2
If tan® + cot6 = 8 , find tan 6 + cot ©

(i) 60 (ii) 61 (iii) 64 (iv) 63 (V) 62

2 2
If tan® — cot6 = 8 , find tan 6 + cot ©

(i) 66 (ii) 65 (iii) 64 (iv) 68 (v) 67

If sindx = cos((x+55)), thenx=

(i) 8 (ii) 7 (iii) 10 (iv) 5 (v) 6

If cos6x = sin((x—8)), thenx =

(i) 13 (ii) 14 (i) 17 (iv) 11 (v) 15

If tan5x = cot((x+36)), thenx=

(i) 10 (ii) 11 (iii) 8 (iv) 7 (v) 9

If cot7x = tan((x—14)), thenx =

(i) 12 (ii) 15 (iii) 14 (iv) 10 (v) 13

If sec5x = cosec((x+60)), thenx =

(i) 5 (ii) 3 (iii) 8 (iv) 6 (v) 4

If cosec5x = sec((x+48)), thenx =

(i) 8 (ii) 4 (i) 7 (iv) 6 (v) 10

V+ W
IfV,W and Xare the interior angles of a triangle, then sin(- 5 ) =

(i) (X) (ii) si (V) (iii) sinX (iv) si (X) (v) (V)
D cos() (i) sin() (i) sinX (iv) sin(0) (v) cos()
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1) (ii) 2) (iv) 3) (iii) 4) (ii) 5) (i) 6) (iii)
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